=) :

@© L. S
= : ;

O S SO S
) .

e

5

1

2 3
TPlpoT (PCA t%obeamlinélf)

H
S
o

=~
= T
D :
= Lo
<) :
o

ko) ot .
L

5]

iy

5
o

0. .
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

9 C

T r

nd L
=
i
10

=~ 1

5

)

=

%

>

o]

)

o}

107}

B

2 F
< 15F
X F
1
o144
= -+
5L

2 3
TPlp?T (PCA t%obeamliné'f)

=

o p/p.)

107

8
= 15F
x
il
05

1=

P F
e o
) L
- -
~

N -
o -
o
=
IS L. |

107}




	Contents
	Page 1


